MEAESIRRE

viz: N Mo %
. S A 2010 4£.3 F 21 H
AR SEIIE CERR BT AR BT T A

() E R A
(2D AR VAN E 591 10 A 125 11 W 4k
(=) A VRN E 55 AR I A 0T T 4K

= ZWjRiE
Lo L SHRIIE BRI B T B
LR SRR R AT
HAc === H++ Ac

AT S5 R c(l-a) ca ca

Hrb ¢ NOTRIMPIIRIRIE, OONMRES L . LFRINIR BT H 0T LLRR

W
Cy+ Cypc-
(o0 (et
(CHAc/Cg)
RfI
o (ca)® 1
_c(l—a)'ﬁ

PN —E I, 55 HAR SR R AR 12 T o 55 B K FEL S 3R A R PR JEE 7K P 350
A Z TR R AN a = Ay /AR > TIEERHES R A, 535« Z T 2R R
Kl = K / ¢ LRI BT % BT LA S O

o _ (c)> 1 Apc 1
k T c(l-a) €0 T ARUZ-Am) P ()

£t (CC) iR e
AZ(HY) = A% 550c(HH)[1 + 0.014 x (t — 25°C)]
A ((Ac™) = A5y y5ec(AcT)[1 + 0.02 X (t — 25°C)]

A??z,t(HAC) = A?ri,t(H-'-) + A?ri,t(AC_)



—_—\

A?;)z,zsf’c(HJ') =3498x 10725 -m?2 -mol1
A10$1,25°C(AC_) =0409%x1072S-m?-mol?
sk, ) AR N

1L_1,. 1
Am A kO(AR)2cH

R S B SRR TTA € = ke / Ay BRI ES
1_1 K
A, Az T kO(A)Pce
B, R — i, R R RIS % ¢ EEE A, RS
BRI 2B 1/A,, 5 AR A o P2 R 1T B s R
IRELRER A T EL A IR TSR L P A B T 2 e

A c

2. HE VRN R RN T vE T R A
MRS —Fh A S . —@IRE R, 7 BaSO4 1A W P A77E DL T P 1T
BaS04===Ba?* + S04
C.2— 2
ksp,saso4 _ CBC,192+ . SC094 — (03?204) (%)
BaSO4 MR I BEARAG, LB /R i S RIT LS TE IR IR BE /R L 5 2%,
25°CI HAE Ny 287.8 x 107* S - m2 - mol~1. SZEhi45 ) BaSO4 HFIA H 5
RAFE T 2= AR RDE TS SR A 0THR « e, WO IE AR ER DU BE /R L 5
K oo — K§ .
Am — M ~ A?Z
CBaso,
Fir LA
c T Ky
BaSO0, /179;)1
B AN (%) W15 BaSO4 VRN VR ) FE AR E0h
(KT K
kppasos = W
X EEFNZ5 5

DDS-T1C U7 S 2y . I, 500mL BEAF. 50mL 81K 5 4 1mL. 5ml.
10mL 1 25mL ZIE IR IRE % 1 %, KiAE 132, 0.2000mol - L™t ZFREFHETA TR -

BaS0, [#] {4,



oA s
N, SCIEEIER
SEIGHREE 20.5°C
DAL 2 ZBBEBRMBSE k/(uS-ecm™) A, 1/Ay,
/N B2 AR fehe N A — N, ke —
B—K | BIXK | 8=Rk | ¥ |S-m2-mol~r | S~1-m~2-mol
0.2000 mol - L1 776 777 778 777 3.89% 10~* 2574
0.1000 mol - L1 563 564 564 564 5.64x 107* 1773
0.0500 mol - L™! 405 405 406 405 8.10x 10~* 1235
0.0250 mol - L™! 288 288 289 288 11.52x 1074 868
0.0125 mol - L™! 117.5 117.4 117.6 117.5 14.20x 1074 704
E—RNE B ORNE B=KNE FYE
Kooy /S -m™ 17.47x 10~* 17.50x 10~* 17.49%x 10~* 17.49%x 10~*
K /S - M 9.87x 107* 9.86x 1074 9.89x 1074 9.87x 1074
ksp,BaSO4
S 1A %
B SLIGHIEAIE

1. ZRRARES TR S s
(D) ez, Hoe i 5 ax

MATLAB —IR$L & 45 BN

Am
WIREE /RS E A2 =0.006 S - m? - mol™?!
R BT kP =9.5% 1076
(2) 5CHrfE s, SRIAXTIRE

0.0060 — 0.0065
0.0065
0.95—1.25
1.25

2+ BRBROUVA FEALH B g

1749 x 107 - 9.87 x 1071
Ksppasos = 287.8 x 10-%

1
— = 29379 X x + 166.6195

X 100% = 7.7%

X 100% = 24%

> = 2.65x 10710






